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hot hit &AL

/7 if (HitE > 0.3 && Neighbor == )
75 |
rr HitE=0.028;
rr/ }
if (HitEl > 0.45 sz (Neighbor == 0 | |Neighbor == 1) )
{
HitEl1=0.028;
}
/*
if (HitE2 > 0.45 && (Neighbor == 0 | |Neighbor == 1| |Neighbor == 2) )
{
HitE2=0.028;
}
if (HitE4 > 0.45 ss (Neighbor == | INeighbor == 1| |[Neighbor == 2| |Neighbor == 3) )
{
HitE4=0.028;
}
if (HitES > 0.45 s& NeisumHitE<0.25 )
{
HitES5=0.028;
}
if (HitEé > 0.45 ss NeisumHitE<0.15 )
{
HitE6é=0.028;
}
if (HitE7 > 0.45 s& NeisumHitE<0.1 )
{
HitE7=0§
}
if (HitE9 > 0.45 ss& Neighbor == 0 )
{
HitE9=0;
}
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